ASSEMBLY INSTRUCTION




LEFT BACK PANEL

RIGHT BACK PANEL

LEFT SIDE  PANEL

RIGHT SIDE PANEL

-AL -A2 -B -C

-1pc -1pc -1pc -1pc

TOP PANEL FRONT FOOT BACK FOOT DRAWER FRONT PANEL
-D -E -F -G

-1pc -1pc -1pc -2 pes




DRAWER ~ PANEL DRAWER BACK PANEL HANGING FILE FOLDER BAR LINK ROD
E\ ‘\g b
-H -| -) -K
-2 pes -2 pcs -4 pes -1pc
ANTI-TIPPING LOCK ROD LOCK BAR LEFT AND RIGHT SLIDING RAIL SCREW
%
I
-0
-L -M -N -2 pes
-1pc -1pc -4 es -M6X40
ANTI-TIPPING ACCESSORY DRAWER ACCESSORY LOCK ACCESSORY LOCK SET
A
-P -Q -R -
-1pc -2pcs -1pc -1pc
PLASTIC BUTTON SCREN SCREN
-U -V
T -14 pes -2 es
-2 pes -M4X8 -M3X8




Step 1 Put front foot(E) and back foot (F) into left side panel (B) and right
side panel (C), then using 4 pes screws (U) to fixed.

Stepz Connect back panel (A1) with left panel (B), using plastic button (T) and screw (U) to
fixed, then using screwdriver to push “H” hole. Connect(A2) with (C) as same way.

Part A1 1PC
Part A2 1PC
Part T 2PCS
PartU 2PCS

+)

M4X8 6PCS

PartD 1PC
PartU 6PCS




Step4 Using link rod (K) to link back panel, and using 2pcs screws(0) to fixed.

Note: Pay attention to the top side of link rod (K).

Part K 1PC
Part O 2PCS

M6X40 2PCS

Step5 1. Tnstall lock (5)

2. Tnstall lock bar(M) into the hole of part (K) and the hole under top panel.

3. Using part (R)to link lock and lock bar.
Note: Pay attention to the detail pictures.

PartS 1PC
PartM 1PC
PartR 1PC

Step 6  Install anti- tipping lock rod (L) on the right side panel (C), then
using 2 pes screws (U) to fix part P.

PartL 1PC
PartP 1PC
PartU 2PCS




Step [ Disassemble the rail (V).

1.Find the left rail, with “L” mark . o \
2. As the picture show to find the black plastic,

Left

then put down, the rail is take down. / BLACK PLASTIC down \

PartN 2PCS

1.Find the right rail, with “R” mark .

2. As the picture show to find the black plastic, // \
then put up, the rail is take down. /

PartN 2PCS

Stepg Put the outer left side rail on the left side panel (B), outer right side rail on the
right side panel (C).

PartN  4PCS




Step 9 Install the drawers.

PartH 2PCS

Step 10 connect draver panel (H) with drawer front panel (G).

PartG 2PCS

Step 11 Fixed the draver. Put draver back panel (I) into the drawer and push it into

the fixing hole.

Part] 2PCS




Step 12 Put inner rail on the both side of drawer.
Note: Pay attention to the left and right.

PatN 4PCS

Step 13 Put part (Q )on the right side of drawer, using screw (V) to fixed.

PartJ 4PCS
PartV 2PCS
PartQ 2PCS

Step 14 Slide the drawers into the body frame.
1. Pulls slide rail out of cabinet.
2. Put inner rail into outer rail, then push and pull test.






